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1. What is the rank of India in the Press Freedom Index 2022?
(A) 135 (B) 140 (C)148 (D) 150
(E) Answer not known
@ihHun usHiflsens &sbHAHT SBUIG 2022 auHMIETET L LD 6TedTeoT ?
(A) 135 (B) 140 (C) 148 (D) 150
(E) eflemL a\gflielebemev

2. Pravasi Bharatiya Diwas observed on which date?
(A) January 6 (B) January 7
(C) January 8 (D) January 9
(E) Answer not known
Uimeund] umopdlw Fleumsv e1bs Herled SiensfleslnGHME?
(A) gevteurfl 6 (B) ggevteurfl 7
(C) mgevreurfl 8 (D) gevreurfl 9
(E) elemL e\giflwielsbemev

3. What is the Age Limit of Pradhan Mantri Jeevan Jyoti Bima Yojana(PMJJBY)?
(A) 18-40 (B) 18-50
(C) 18-60 (D) 18-70
(E) Answer not known
gl euetr Gmndl Sywielm sMIIH HILLID GuLIg 6uTLDL| 6T6dT60r ?
(A) 18-40 (B) 18-50
(C) 18-60 (D)18-70
(E) eflemL a\gflielebemev

4. The U-WIN Application related to?
(A) Covid Test (B) Vaccination Certificate
(®) Doctor's Prescription (D) Vaccine Reservation
(E) Answer not known
W, — 6Xle0T Q\FILIE0 THETIL 60T OIBMLITLIEWMLLISI?
(A) Gamedl LflGengemeot (B) (L, sTedTISD
(C) wmssieuT pGeongement (D) (L8 (peotLSley
(E) eflemL a\z1fliielebemen

5. The Pradhan Mantri Suraksha Bima Yojana (PMSBY)(18-70) related to which of the following

matter?
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(A) Accident Insurance (B) Life Insurance

(C) Old Age Pension (D) Health Insurance
(E) Answer not known

Nsof &Iengt &MISE S LID(18-70) IHEmIL60T ASMLTLEMLUIS?
(A) eusg sMISG (B) &pweit &S

() WAHGIWIMT @ilieyHiid (D) w@SEIen HMISH
(E) ellemL 6\giflwieflsbemev

6. G7 Summit for the year 2023 to be held in which country?
(A) India (B) Germany
(C) Japan (D) China
(E) Answer not known
20231 gyevrgm&meor G7 b 6mhkiE HewLOLD6Tens ?
(A) @bl (B) iggioeuf]
(C) sglimedt (D) &eorrt
(E) eflemL a\gflielebemev

7. With reference to World Food Programme (WFP), consider the following statements
1. It is a branch of the United Nations that deals with hunger eradication and promotes food
security.
2. |t is headquartered in Geneva, Switzerland.
3. It has won the 2020 Nobel Prize for Peace.
Which of the above statements are correct?
(A)1& 2 only (B) 2 & 3 only
(C)1& 3 only D)1,2&3
(E) Answer not known
2 & 2_evoteyd HlL b (WFP) ummlw GmiliL 6T, NedTeuhld SIM&HemndHHemend &6u60fliLrhis6r
188 25 BIEseT Femuuler & Hemerwngd, @& udl QI WwHMID 2 evuel
ungisienL GbLBSSIEDS.
2.8560T HemeVemLoWSD Gl gTenbdHleor eigeofeumeileh o eieng).
3.85 2020 siemwdHlssner Criued Liflens aeueTnieTeTs).
Gom&etorL dnHmiserfled 618 sifluwimeorg?
(A)1& 2 wLL@BGW (B) 2 & 3 wL®BGW
(C)1& 3 wL@BCW D)1,2&3
(E) eflemL a\gflweilsbemev
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8. Whatis 'YZ Ceti" recently seen in the news?
(A) An asteroid (B) A galaxy
(C) An exoplanet (D) A comet
(E) Answer not known
FbusHed aFfsefled uniTss "YZ Ceti" eredtmmed er60T60T?
(A) e AmiGamer (B) & eXlevonsedt
(C) @ UnsGamer (D) &b 6ured HLESSITLD
(E) elemL 6\giflwieleemen

9. With reference to MUDRA scheme, consider the following statements
1. It is a central sector scheme of the Union Ministry for MSMEs.
2. The benefits are for both farming and non-farming sector.
3. Unique features of the scheme include a Mudra Card which permits access through ATMs
and Card Machines.
Which of the above statements are correct?
(A) 1 only (B) 2 & 3 only
(C)1& 2 only (D) 3 only
(E) Answer not known
WHIN HLLGemall unrl, LeoTeuUBHLD HMHemn&HES6m6Nd: SHeU6uTILHhiS6T
1.85 MSME& @b&&ment S Hemlo&sssHSle0r oSS GHemm S LLOmGLD.
2.efleusmuid LHMID eEUSTLID SieDEVNSH FHIENMSHEDHHE HEOTEMLOGHET 2_6T6T60T.
3 ATM&eT wHMId &SMIG OWaflersHeT EpeldD NS SiIHSGSL (WsIm &b Sbs
FLL 56t H6vflSHSHIEUONEIT SDSMHRISEITIED SLMIGLD.
Gom&etorL dn Hmiserfled 61 sifluwimeorg?
(A) 1 LGB0 (B) 2 & 3 wLLBGW
(C)1& 2 wL@BCwW (D) 3 wLBGwW
(E) eflemL a\gflielebemev

10. Consider the following statements regarding the Comptroller and Auditor General (CAG) of
India and answer accordingly:
Assertion (A): CAG, in practice, is only an Auditor and not a Comptroller.
Reason(R): The CAG has no control over the issue of money from the Consolidated Fund.
Which of the above statements are correct?
(A) Both A and R are true and R is the correct explanation of A
(B) Both A and R are true, but R is not a correct explanation of A
(C) Both A & R are false
(D) A is false, but R is true
(E) Answer not known
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@hdHwnelledt Hemevemld HeOUISGHSH SHevvfldemaswneny (CAG) e@mLfumenr LledTeuHLd
SNEHemHHEM6NSH H([HHH6V O&MeouT(B ABMBHMHL LileverflEHsHeD:

gapm (A CAG, peoLwempuled, & SHeooflGemswimeny WLLGGWL WLOMID 6
SLBLIUMLLTEMT  Si606V.

&Mrevond(R): esn@Ly Hlé Qmhg Leoisdens eeusfluliBeudled Haglsd 6mg &L BUUT@BLD
B6Lemev.

GomsevorL. sn HmiserleL 618 &ifluimeors?

(A) A bpmb R @revorBid 2_evoremio HMID R ereorugy A @eor siflwimeor eXleméeLd

(B) A wmmio R 8revor(BLd 2_evoremio, Syevtmed R ereotug A et siflwimeot ellen&sid Siebev
(C) A & R 8retor(Bld H6uUMTEtTEm6Y

(D) A eTedTLIS) SHEUDMTEDTSI, SH60TTEV R 6TEOTLIS 2 600T6mLD

(E) eflemL a\gflielebemev
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ANSWER KEY

1 2 3 4 5
D D B B A
6 7 8 =) 10
C C C D A
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